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CHEMISTRY

BOOKS - TARGET CHEMISTRY
(HINGLISH)

S-BLOCK ELEMENTS

1. The long form of the periodle table is

divided into blocks


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tx7t9wQakC5Y

A. two

B. three

C. four

D. five

Answer: C

o Watch Video Solution

2.Group 1 and group 2 elements are placed at

the of the long form of the modern

periodic table .


https://dl.doubtnut.com/l/_tx7t9wQakC5Y
https://dl.doubtnut.com/l/_z48cL3aRSEaj

A.right

B. left

C. middle

D. bottom

Answer: B

o Watch Video Solution

3. The elements of group 1 are called alkali

metals because


https://dl.doubtnut.com/l/_z48cL3aRSEaj
https://dl.doubtnut.com/l/_1gvelkTLRxS2

A.They have one electron in their

outermost orbital

B. they have low melting point

C. the solutions of their salts basic

D. their oxides and hydroxides combine

with water to form alkali

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1gvelkTLRxS2

4. Which of the following is NOT an alkali

metal ?

A. Caesium

B. Strontium

C. Rubidium

D. Potassium

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LltpckIKDhM7
https://dl.doubtnut.com/l/_JKkkOXkONlWg

5. Which of the following is the resest alkaline

earth metal ?

A. Beryllium

B. Magnesium

C. Calcium

D. Radium

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_JKkkOXkONlWg

6. Amongst alkali metal cations, has the

smallest size.

A. L

B. Ba

C.Cs

D. Ra

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_fPCNJ21zmROs
https://dl.doubtnut.com/l/_pU9UF0qnNAkT

7. Which of the following is reponsible for the

solubility of lithium compounds in organic

solvents ?

A. Covalent character of lithium

compounds.

B. lonic character of lithium compounds.

C. Basic character of lithium compounds.

D. All of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_pU9UF0qnNAkT

8. Which of the following alkali metal nitrate

on decomposition gives nitrogen dioxide as

one of the product ?

A. KNOjg

B. LiNOg

C. NG,NO3

D. RbNOg

Answer: B

I o Watch Video Solution


https://dl.doubtnut.com/l/_pU9UF0qnNAkT
https://dl.doubtnut.com/l/_bFzqKqn1cNpG

9. Which of the following compounds is NOT

obtained in the solid form ?

A. Calcium hydrogen carbonate

B. potassium hydrogen carbonate

C. Sodium hydrogen carbonate

D. Lithium hydrogen carbonate

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bFzqKqn1cNpG
https://dl.doubtnut.com/l/_pPBtJInC1tnQ

10. The similarities between an element of a
group and the element placed in the next

period of the succeeding group is called .

A. Vertical relationship

B. horizontal relationship

C. diagonal relationship

D. periodic trend

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_pPBtJInC1tnQ
https://dl.doubtnut.com/l/_Lw66FnKtlsvX

1. The metal showing resemblance with

lithium is

A. Be

B. Mg

C. Al

D. Na

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Lw66FnKtlsvX
https://dl.doubtnut.com/l/_a6DY5IdWLiF7

12. Atmic radius of Li is

A.152 pm

B. 265 pm

C.376 pm

D. 520 pm

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_hdGLp7dtMqJy

13. Identifly the CORRECT order of decreasing

ionization enthalpies of alkali metals

A.Lt > Na > K > RB > Cs

B.Li > Rb > K > Na > Lz

C.Li >Cs > Na > Rb > K

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_dsSPwiTlEKlm
https://dl.doubtnut.com/l/_2hdxxdtuUXph

14. The first ionization enthlpies of alkali

metals decreases down the group because of

A. iIncrease in atomic number

B. increase in atomic size

C. increase in screening effect

D. all of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_2hdxxdtuUXph
https://dl.doubtnut.com/l/_8oHrKW0KdWZg

15. Sodium reacts with oxygen to form

A. Oxide

B. Peroxide

C. Superoxide

D. epoxide

Answer: B

o Watch Video Solution

16. Alkali metals react oxygen to form


https://dl.doubtnut.com/l/_8oHrKW0KdWZg
https://dl.doubtnut.com/l/_4HXFUZsRon7U

A. nitrogen gas

B. oxygen gas

C. chlorine gas

D. hydrogen gas

Answer: D

o View Text Solution

17. Solvay process is also known as

A. soda process


https://dl.doubtnut.com/l/_4HXFUZsRon7U
https://dl.doubtnut.com/l/_Vt1Q5kJflVL0

B. caustic sada process

C. Brine process

D. ammonia soda process

Answer: D

o Watch Video Solution

18. In the solvay process ,NH,CIl is treated

with malk of lime to recover

A. NaCl


https://dl.doubtnut.com/l/_Vt1Q5kJflVL0
https://dl.doubtnut.com/l/_wRO0IjWiS98m

B. NH,HCO,

C.NH,

D.CO,

Answer: C

o View Text Solution

19. Which of the following is used in qualiitive

as well as quantitive analysis ?

A. NaCl


https://dl.doubtnut.com/l/_wRO0IjWiS98m
https://dl.doubtnut.com/l/_a6A1W1K0y8eU

B. Na2003

C. NCLHCOg

D.CO,

Answer: B

o View Text Solution

20. The gases liberated at anode in the

electrolysis of sodium acetate are

A. hydrogen


https://dl.doubtnut.com/l/_a6A1W1K0y8eU
https://dl.doubtnut.com/l/_HnF1boo23dcw

B. chlorine

C. oxygen

D. nitrogen

Answer: B

o Watch Video Solution

21. The compound which is NOT resent as

impurity in crude NacCl is

A. CaSO4


https://dl.doubtnut.com/l/_HnF1boo23dcw
https://dl.doubtnut.com/l/_NuGofv8Istkp

B. CCLClg

D.HCI

Answer: D

o View Text Solution

22. Saturated solution of crude NaCl X—>

Pure NaCl .In the reaction , Xis _

A. HCl gas


https://dl.doubtnut.com/l/_NuGofv8Istkp
https://dl.doubtnut.com/l/_CUePOVxRSsUK

B. NHO; gas

C. NHj gas

D. H,SO, gas

Answer: A

o Watch Video Solution

23. NaCl when heated with

H,50, and MnOQO, liberates

A. hydrogen gas

conc



https://dl.doubtnut.com/l/_CUePOVxRSsUK
https://dl.doubtnut.com/l/_37Sn5Ma2ScCG

B. chlorine gas

C. Carbon dioxide gas

D. hydrogen chloride gas

Answer: B

o Watch Video Solution

24.The aqueous solution of Na HCOs is

A. alkaline

B. neutral


https://dl.doubtnut.com/l/_37Sn5Ma2ScCG
https://dl.doubtnut.com/l/_wL4xAYCRB52h

C. acidic

D. amphoteric

Answer: A

° Watch Video Solution

25, is used as a reducing agent in the

extraction of B and Si.

A. Potassium

B. Calcium


https://dl.doubtnut.com/l/_wL4xAYCRB52h
https://dl.doubtnut.com/l/_SY62A3GLauZ3

C. Sodium

D. Lithium

Answer: C

° Watch Video Solution

26. plays an important role in Wurtz

synthesis .

A.Li

B. Na


https://dl.doubtnut.com/l/_SY62A3GLauZ3
https://dl.doubtnut.com/l/_0fiMCrZZXJ0b

C.K

D.Cs

Answer: B

° Watch Video Solution

27. is used in the manufacture of soft


https://dl.doubtnut.com/l/_0fiMCrZZXJ0b
https://dl.doubtnut.com/l/_R0RI3FV3SYX5

C. LiOH

D. KOH

Answer: D

o View Text Solution

28. iIs used as a source of oxygen in

submarine , space shuttles and in emergency

breathing apparatus .

A. Sodium oxide


https://dl.doubtnut.com/l/_R0RI3FV3SYX5
https://dl.doubtnut.com/l/_iTsEUW1LqgbZ

B. Potassium

C. Sodium sulphate

D. Potassium superoxide

Answer: D

o Watch Video Solution

29. A typical 70 kg man contains about

Na .

A.70g


https://dl.doubtnut.com/l/_iTsEUW1LqgbZ
https://dl.doubtnut.com/l/_TlcBLFqXRVAt

B.80 g

C.90g

D.170 g

Answer: C

o Watch Video Solution

30. Which of the following is CORRECT

regarding human blood plasma ?

A. High concentration of K *


https://dl.doubtnut.com/l/_TlcBLFqXRVAt
https://dl.doubtnut.com/l/_mYxq5T6sj0aO

B. Low concentration of K

C. Low concentration of K

D. None of these

Answer: B

o View Text Solution

31. How does tubular secretion help in

maintaining ionic and acid-base balance in

body-fluids?


https://dl.doubtnut.com/l/_mYxq5T6sj0aO
https://dl.doubtnut.com/l/_nphc4jFmmhrg

A. Carbonic acid

B. Carbonate
C.Nat — K% pump

D. Biscarbonate

Answer: D

o Watch Video Solution

32. Alkaline earth metals belong to the

A. S-block in periodic table


https://dl.doubtnut.com/l/_nphc4jFmmhrg
https://dl.doubtnut.com/l/_GVBCgfu3SYfw

B. p - block in periodic table

C.d-block in periodic table

Answer: A

o Watch Video Solution

33. The outer electronic configuration of

alkaline earth metals is

A.ns


https://dl.doubtnut.com/l/_GVBCgfu3SYfw
https://dl.doubtnut.com/l/_RuUWR7uEZv5X

Answer: A

o Watch Video Solution

34. which of the following element forms
compounds that are partly ionic and partly

covalent ?


https://dl.doubtnut.com/l/_RuUWR7uEZv5X
https://dl.doubtnut.com/l/_MApJenHY9H2B

A. Ca

B. Sr

C.Ba

D. Mg

Answer: D

o View Text Solution

35. The reaction of powered Be with N,

produces


https://dl.doubtnut.com/l/_MApJenHY9H2B
https://dl.doubtnut.com/l/_2SWTskYQGJum

A. B€3N2

B. B€2N2

C. B€N2

D. B€N3

Answer: A

° Watch Video Solution

36. Hydrolith is

A. B€H2


https://dl.doubtnut.com/l/_2SWTskYQGJum
https://dl.doubtnut.com/l/_VEk1X2GW7wW2

B. CCLHz

C. BCLHQ

D. BeC’lg

Answer: B

o Watch Video Solution

37. BeF, is prepared in the presence of CO,

by thermal decomposition of

A. (NH,)BeF,


https://dl.doubtnut.com/l/_VEk1X2GW7wW2
https://dl.doubtnut.com/l/_L6WU6F9eYchY

B. (NH4)2B€F4
C.(NH,),BeF

D. Bng

Answer: B

o View Text Solution

38. Which of the following reaction do NOT

occur ?

A. Be + 2HCI — BeCl + H,


https://dl.doubtnut.com/l/_L6WU6F9eYchY
https://dl.doubtnut.com/l/_AQyeFBZmLlmm

C.Ca + H2SO4 — CCLSO4 + H,

D.Sr + 2HCI — SrCl, + H,

Answer: A

o View Text Solution

39. Metallic is used for making

windows of X ray tubes .

A. Magnesium


https://dl.doubtnut.com/l/_AQyeFBZmLlmm
https://dl.doubtnut.com/l/_pIoxoodMkzn5

B. beryllium

C. sulphur

D. Magnalium

Answer: B

o Watch Video Solution

40. Which of the following compound is used
to scan the X - ray of the human digestive

system ?


https://dl.doubtnut.com/l/_pIoxoodMkzn5
https://dl.doubtnut.com/l/_9TyW1KTDqV3t

A. BaCl2

B. CCLClz

C. BCLSO4

D. CG,COg

Answer: C

o Watch Video Solution

41. Beryllium carbide on hydrolysis gives

A. Methane


https://dl.doubtnut.com/l/_9TyW1KTDqV3t
https://dl.doubtnut.com/l/_UUUFKgyvMklq

B. ethane

C. beryllium

D. carbon dioxide

Answer: A

o Watch Video Solution

42.Quick lime is

A.Ca(OH),

B. CaCO3


https://dl.doubtnut.com/l/_UUUFKgyvMklq
https://dl.doubtnut.com/l/_8Rs4UM1g4gbF

C.CaO

D. CCLSO4

Answer: C

o Watch Video Solution

43. which of the following is TRUE about

commercial production of calium oxide ?

A. Staked lime is used as reactant


https://dl.doubtnut.com/l/_8Rs4UM1g4gbF
https://dl.doubtnut.com/l/_iCLqvBMr4O0c

B.the temperature is maintained at

arpund 773 K.

C.As soon as the byproduct is formed , is

removed to enble the reaction to proced

to completion

D. All of these

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_iCLqvBMr4O0c

44, Slaking of limeis a/ an

A. exothermic reaction

B. endothermic reaction

C. substitution reaction

D. elimination reaction

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_K0vdwkcvBKiy

45. CaCOs reacts with dilute acid to liberate
A.CO
B. CO,
C.CO;~

D. Cl,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vX9xBurKQZql
https://dl.doubtnut.com/l/_1VXMNyS3k5as

46. Which of the following is INCORRECT about

calcium carbonate ?

A. It occurs in several forms like chalk ,

limestone , calcites , etc.

B. It is a white fluffy power,

C. It is readily soluble in water

D.It is used in the manufacture of quick

lime.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1VXMNyS3k5as

47. is used as mild abrasive in tooth

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1VXMNyS3k5as
https://dl.doubtnut.com/l/_BFwh7xNE2Tk9

48. Definciency of calcium causes

A. Rickets

B. convulsion

C. hypertension

D. circulatory failure

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_BFwh7xNE2Tk9
https://dl.doubtnut.com/l/_KhtybScS7mH2

49, The pair whose both species are used in

acid medicinal preparation is:

A.NaHCO; and Mg(OH),
B. Na;COj3 and Ca(HCO;),
C.Ca(HCOj3), and Mg(OH),

D.Ca(OH), and NaHCOjs

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_z209JomT6LFI
https://dl.doubtnut.com/l/_skKxRbO0HUxQ

50. Which of the following concerning is FALSE

?

A. Lithium and lithium nitrate decomposes

to give the oxide on heating .

B. Lithium is the most electronegative

element of group 1.

C. Lithium hydrogen cabonate cannot be

isolated as a stable solid .

D. Lithium forms a peroxide but not a

superoxide .


https://dl.doubtnut.com/l/_skKxRbO0HUxQ

Answer: D

o Watch Video Solution

51. which of the following CANNOT form

peroxide ?

A. Cs

B. Mg

C.Be

D. All of these


https://dl.doubtnut.com/l/_skKxRbO0HUxQ
https://dl.doubtnut.com/l/_fsdv7TkRKF32

Answer: D

° View Text Solution

52. Which one of the following reactions is not

associated with the Solvay process of

manufacture of sodium carbonate ?

A. NH3 + HQO -+ 002 — NH4H003

B. NaCl + NH4HCO3 — N&HCO3

C. 2NCLHCO3 — NCLQCO?, + HzO + 002

D.2NaOH + 002 — Na2002 + H20


https://dl.doubtnut.com/l/_fsdv7TkRKF32
https://dl.doubtnut.com/l/_weQJ8VUvvpRi

Answer: D

o Watch Video Solution

53.IN alkaline earth metals,

A. the cation Is less stable than the atom

B. the cation is smaller than the atom

C.the cation and the atom have about the

same size

D. the cation is larger then the atom


https://dl.doubtnut.com/l/_weQJ8VUvvpRi
https://dl.doubtnut.com/l/_fQno9yuZnE2M

Answer: B

o Watch Video Solution

54. Which of the following does NOT belong to

alkaline earth metals family ?

A. Mg

B. Ba

C.Rb

D. Ra


https://dl.doubtnut.com/l/_fQno9yuZnE2M
https://dl.doubtnut.com/l/_28Iyfoh8Nvis

Answer: C

o Watch Video Solution

55. is useful in purification of bauxite .

A. Sodium carbonate

B. Sodium hydroxide

C. Sodium chloride

D. Soidum hydrogen carbonate

Answer: B


https://dl.doubtnut.com/l/_28Iyfoh8Nvis
https://dl.doubtnut.com/l/_K5rVRhJhwJrS

° Watch Video Solution

56. Which of the following element belongs to

alkaline earth metals ?

A. Boron

B. Carbon

C. Aluminium

D. Barium

Answer: D

| 8 l


https://dl.doubtnut.com/l/_K5rVRhJhwJrS
https://dl.doubtnut.com/l/_VU3m4PIukhvD

57. Which of the following is the most

abundant salt of sodium ?

A. Sodium phosphate

B. Sodium sulphate

C.sodium chloride

D. Sodium nitride

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_VU3m4PIukhvD
https://dl.doubtnut.com/l/_FtTU4805MJpd

58. AlCl3 is used as a catalyst in

A. Wurtz synthesis

B. Saponification of esters

C. Williamson synthesis

D. friedel craft reaction

Answer: D

O Watch Video Solution



https://dl.doubtnut.com/l/_FtTU4805MJpd
https://dl.doubtnut.com/l/_Wf6KalRaJBr8
https://dl.doubtnut.com/l/_MDicBJtmAPSW

59. has wide application in

purification of sugar .

A.Ca(OH),
B. CCLClz
C.CaO

D. 00,003

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_MDicBJtmAPSW

60. In the periodic table , the element with

atomic number 38 belongs to

A. Fourth period and group 2

B. Fourth period and group 4

C. Third period and group 4

D. fifth period and group 2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_fbgDwNSHTpV9
https://dl.doubtnut.com/l/_rjrg2igwlU1Q

61. Electronic configuration of potassium with
respect to nearest noble gas is

A [He]2s !

B. [Ne]2s'

C.[Ar]4s’

D. [kr]5s"

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_rjrg2igwlU1Q

62. The common oxidaton state for alkaline

earth metals is

A +4

B. +1

C.+2

D. +3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_xnGP62MdigwW
https://dl.doubtnut.com/l/_PBNLCcjnxRHd

63. Fr has half life period of

A. 21 secs

B. 21 minutes

C. 21 hours

D. 21 days

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_PBNLCcjnxRHd

64. Which of the following statements is
INCORRECT ?
A. Alkali metals form monovalent M T ion
B. General electrons condifuration of
outermost shell of alkaline earth metals
is ns?

C.In Alkali metals , the differentiating

electron enters ns orbital of the atom..


https://dl.doubtnut.com/l/_R8fMJKG03fqo

D. Alkaline earth metals occur in nature in

free state.

Answer: D

o View Text Solution

65. Chloride of metal Y was found to be
deliquescent and on crystallisation formed a

deligrate .The metal Y is

A. Na


https://dl.doubtnut.com/l/_R8fMJKG03fqo
https://dl.doubtnut.com/l/_rTwDXkNN46Pe

B. Li

C.K

D. either (B ) or (C)

Answer: B

o View Text Solution

66. Which of the following hydroxide is a weak

base ?

A. LiOH


https://dl.doubtnut.com/l/_rTwDXkNN46Pe
https://dl.doubtnut.com/l/_VwqUSv5VDWbR

B. KOH

C.NaOH

D. CsOH

Answer: A

o Watch Video Solution

67. Alkali metals (other than lithium ) form

amides of the general formula

A. MNH


https://dl.doubtnut.com/l/_VwqUSv5VDWbR
https://dl.doubtnut.com/l/_w3TCY5JTz3MR

B. MNH,

C. MbNH

D. My N

Answer: B

o View Text Solution

68. Which of the following is FALSE ?

A. LiCi is soluble in ethanol

B. MgO combines with excess of oxygen .


https://dl.doubtnut.com/l/_w3TCY5JTz3MR
https://dl.doubtnut.com/l/_bhf76Zk0L1LQ

C. Carbonates of lithium and magnesium

decompose on heating to form their

corresponding oxides and CO,

D. Magnesium does not form solid

hydrogen carbonate

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_bhf76Zk0L1LQ

69. Alkali metal do NOT form dipositive ions

because they have high .

A. Nuclear change

B. electron affinity

C. Second ionization ebnthalpy

D. Third ioziation enthalpy

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FLSkNx4GG7xW
https://dl.doubtnut.com/l/_ZHfGWU6DMLvG

70. Alkali metals taenish in dry air because

A.they react with oxygen to form

correspoding oxides

B.they react with nitrogen to form

corresponding nitides

C.they hydrogen to form corresponding

hydrides

D.they react with halogens to form

corresponding halides


https://dl.doubtnut.com/l/_ZHfGWU6DMLvG

Answer: A

o View Text Solution

71. Above 373 K, washing soda changes to a

white power called

A. Baking soda

B. hydrous washing soda

C. charcoal ash

D. soda ash


https://dl.doubtnut.com/l/_ZHfGWU6DMLvG
https://dl.doubtnut.com/l/_rmPuaoYQbwDX

Answer: D

o Watch Video Solution

72. In Castner -Kellner used for preparation of

sodium carbonate, acts as an anode.

A. Nickel rod

B. graphite rod

C. copper rod

D. zinc rod


https://dl.doubtnut.com/l/_rmPuaoYQbwDX
https://dl.doubtnut.com/l/_cyLcXYrzBg2a

Answer: B

o View Text Solution

73. The substance used pure fats and oils is

A. Sodium carbonate

B. sodium chloride

C. sodium hydroxide

D. sodium sulphate


https://dl.doubtnut.com/l/_cyLcXYrzBg2a
https://dl.doubtnut.com/l/_RF3hlrxid5ba

Answer: C

o View Text Solution

74. Which gas is evolved when NaHCOs; is

heated ?

A.CO

B. CO,

C. NO,

D. O,


https://dl.doubtnut.com/l/_RF3hlrxid5ba
https://dl.doubtnut.com/l/_jSg3izqCCil7

Answer: B

o Watch Video Solution

75. Toughened bearings are made using

alloy
A. Na — Pb
B.Li — pb
C. Li — Al

D.Li — Mg


https://dl.doubtnut.com/l/_jSg3izqCCil7
https://dl.doubtnut.com/l/_DOLyhbEN9OQ5

Answer: B

o Watch Video Solution

76. is an excellent abdorbent of carbon

B. KCI

C. KOH

D. KHCO;


https://dl.doubtnut.com/l/_DOLyhbEN9OQ5
https://dl.doubtnut.com/l/_PNyTvKJZ98fq

Answer: C

o Watch Video Solution

77. the material used in photoelectric cells

contains,

A. Cs

B. Li

C.Be

D. Mg


https://dl.doubtnut.com/l/_PNyTvKJZ98fq
https://dl.doubtnut.com/l/_sHL7yNyAWmiO

Answer: A

o Watch Video Solution

78. Sodium and potassium ions maintain

A. constant vpour pressure on either side

of cell wall

B. constant osmotic pressure on either

side of cell wall

C. the sensitvity of nerves


https://dl.doubtnut.com/l/_sHL7yNyAWmiO
https://dl.doubtnut.com/l/_pbW49jTOHtvQ

D. both (B ) and (C)

Answer: D

° View Text Solution

79. Which of the following is FALSE ?

A.sodium ion is the major cation in the
blood plasma of vertebrates .
B. Na™ ions depress the activity of muscle

enzyme .


https://dl.doubtnut.com/l/_pbW49jTOHtvQ
https://dl.doubtnut.com/l/_WUumIljtk1cO

C. K" ions permit the heat muscles to
relax between the beats.

D. Na™ is especially an enzyme activator .

Answer: D

o View Text Solution

80. In humans ,NaCl is a source of for

gastric juices .

A. Polynucleic acid


https://dl.doubtnut.com/l/_WUumIljtk1cO
https://dl.doubtnut.com/l/_YS6mmb0eqLhe

B. chlorine gas

C. Hydrochloric acid

D. protein

Answer: C

o Watch Video Solution

81. Which of the follows indicates deficiency of

potassium in human body ?

A. Paralysis of muscles


https://dl.doubtnut.com/l/_YS6mmb0eqLhe
https://dl.doubtnut.com/l/_ivkkp10r5CdG

B. Retarded bone growth

C. Reduction in fat growth .

D. Low blood pressure

Answer: A

o Watch Video Solution

82. The alkaline earth metals
Ba, Sr,Ca and Mg may be arranged in the
order of their decreasing first ionzation

enthalpy as


https://dl.doubtnut.com/l/_ivkkp10r5CdG
https://dl.doubtnut.com/l/_54aImxQPdtxx

A. Mg, Ca, Sr, Ba

B.Ca, Sr, Ba, Mg

C.Sr, Ba, Mg, Ca

D. Ba, Mg, Ca, Sr

Answer: A

o View Text Solution

8. The first ionization enthalpies of alkaline
earth metals are higher than corresponding

alkali metals due to their


https://dl.doubtnut.com/l/_54aImxQPdtxx
https://dl.doubtnut.com/l/_430MoNflgOaw

A. large size

B. Density

C.Small size

D. Atomic mass

Answer: C

o View Text Solution

84. Which of the following alkaline earth metal

does NOT react with water ?


https://dl.doubtnut.com/l/_430MoNflgOaw
https://dl.doubtnut.com/l/_usO9cxc4TtOc

A. Be

B. Mg

C.Ca

D. Sr

Answer: A

o View Text Solution

85. BeH, is prepared reducing BeCly; with


https://dl.doubtnut.com/l/_usO9cxc4TtOc
https://dl.doubtnut.com/l/_n3HL7NSmy1cn

A.HCI

B. LiAIH,

C. H,

D. NaBH,

Answer: B

° View Text Solution

86. Which of the following statements is

INCORRECT ?


https://dl.doubtnut.com/l/_n3HL7NSmy1cn
https://dl.doubtnut.com/l/_DhjEqfymYydj

A.The increasing order of the affinity of

alkaline earth metals towards oxygen is

Be < Mg < Ca < Sr < Ba.

B.The increasing order of reactivity of

alkaline earth metals with water is

Mg < Sr < Ba.

C. All the hydrides of alkaline earth metals

are ionic solids .

D. All the alkaline earth metals combine

with halogens at high temperature to


https://dl.doubtnut.com/l/_DhjEqfymYydj

form corresponding halides .

Answer: C

° View Text Solution

87. An oxide of alkaline earth metal on heating

with carbon in the presence of chlorine gives

BeC(Cl, The oxide is

A. BeO

B. 3602


https://dl.doubtnut.com/l/_DhjEqfymYydj
https://dl.doubtnut.com/l/_xvHDfRGlrnX0

C. BGQO

D. B€202

Answer: A

° Watch Video Solution

88. which of the following has highest melting

and boiling point ?

A. Ba

B. Sr


https://dl.doubtnut.com/l/_xvHDfRGlrnX0
https://dl.doubtnut.com/l/_jBCqoKaGFU8z

C. Mg

D. Be

Answer: D

° View Text Solution

89. Oxides and hydroxides of alkaloine earth

metals EXCEPT beryllium are in nature.

A. Acidic

B. basic


https://dl.doubtnut.com/l/_jBCqoKaGFU8z
https://dl.doubtnut.com/l/_hMsshrYPSqIP

C. amphoteric

D. neutral

Answer: B

° View Text Solution

90. An alloy contatining 1-15 % Mg and 85-99%

Al is known as

A. elektron

B. Magnalium


https://dl.doubtnut.com/l/_hMsshrYPSqIP
https://dl.doubtnut.com/l/_oX0nawVZt0ss

C. alnico

D. Duralumin

Answer: B

o Watch Video Solution

91. Which of the following metal is used to

remove sulphur from petroleum ?

A. Beryllium

B. Calcium


https://dl.doubtnut.com/l/_oX0nawVZt0ss
https://dl.doubtnut.com/l/_q8wF1XJywHyj

C. Barium

D. Magnesium

Answer: B

o Watch Video Solution

92. An element X is used in the extraction of
metal from their oxides where cabon is

ineffective .The element X is

A. Magnesium


https://dl.doubtnut.com/l/_q8wF1XJywHyj
https://dl.doubtnut.com/l/_FY0Qg20j5SN1

B. Beryllium

C. Barium

D. Calcium

Answer: D

o View Text Solution

93. The first member if the group -2- elements

exhibits diagonal relationship with _ of the

modern periodic table .


https://dl.doubtnut.com/l/_FY0Qg20j5SN1
https://dl.doubtnut.com/l/_VBB8E4aUYrBb

A. the first member of group -3

B. the first member of group -13

C. the first member of group - 13

D. the second member of group -14

Answer: C

o View Text Solution

94. which of the following represents beryllate

ion ?


https://dl.doubtnut.com/l/_VBB8E4aUYrBb
https://dl.doubtnut.com/l/_DkSjrLUTvShq

A [Be(OH),]””
B. [Be(OH),|"”
C. [Be(OH),]”"

D. [Be(OH)|*~

Answer: B

0 Watch Video Solution

95. Quick lime is a/ an

A. Basic oxide


https://dl.doubtnut.com/l/_DkSjrLUTvShq
https://dl.doubtnut.com/l/_rEE44ModwiFv

B. acidic oxide

C. amphoteric oxide

D. neutral oxide

Answer: A

o Watch Video Solution

96. Compound of calcium (X) is the cheapest
form of alkali , which can be decomposed to

give back X at very high temperature X is


https://dl.doubtnut.com/l/_rEE44ModwiFv
https://dl.doubtnut.com/l/_ILnXvt3pNga8

A. CCLCOg
B.CaO
C.Ca(OH),

D. CG,SO4

Answer: B

° View Text Solution

97. Which compound has low lattice energy ?

A.LiH


https://dl.doubtnut.com/l/_ILnXvt3pNga8
https://dl.doubtnut.com/l/_5qwFfzRHBmsj

B. KH

C. NaH

D. CsH

Answer: D

o View Text Solution

98. Photoesctric effict is maximum in

A. Cs

B. Na


https://dl.doubtnut.com/l/_5qwFfzRHBmsj
https://dl.doubtnut.com/l/_LHiF4NxOMYri

C. k

D. Li

Answer: A

° View Text Solution

99. On prolonged exposure to air, sodium

finally change to :

A. NCLQCO?,

B. NCLQO


https://dl.doubtnut.com/l/_LHiF4NxOMYri
https://dl.doubtnut.com/l/_wyzdE58tf5sf

C. NaOH

D. NCLHCOg

Answer: A

O Watch Video Solution

100. L3 AlH, is used as

A. an oxidising agent

B. a reducing agent

C. a moderator


https://dl.doubtnut.com/l/_wyzdE58tf5sf
https://dl.doubtnut.com/l/_9BKfvmD1vi3c

D. a water softener

Answer: B

o Watch Video Solution

101. The valence shell electronic configuration

of Rbis

A. 3s!

B. 45!

C.5s!


https://dl.doubtnut.com/l/_9BKfvmD1vi3c
https://dl.doubtnut.com/l/_8kt9IR6Awrrc

D. 7s!

Answer: C

o Watch Video Solution

102. The valence shell electronic configuration

of alkali metals is

A. nsznp1

B. nsl

C.(n — 1)p°ns?


https://dl.doubtnut.com/l/_8kt9IR6Awrrc
https://dl.doubtnut.com/l/_95wLEbK4MqcW

D. (n — 1)d*ns”

Answer: B

° Watch Video Solution

103. Which of the following does not illustrate

the anomalous properties of lithium?

A. The melting point and boiling point of Li

are comparatively high .


https://dl.doubtnut.com/l/_95wLEbK4MqcW
https://dl.doubtnut.com/l/_o6yjwIcc3h32

B. Li is mush softer than the other group 1

metals .

C.Li forms a nitride Li3N unlike other

group 1 metals .

D.the ion of Li and its compounds are

more heavily hydrated than those of the

rest of the group .

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_o6yjwIcc3h32
https://dl.doubtnut.com/l/_3Bb3OiPjzm6U

104. Lithium shows similarities to magnesium

in its chemical behaviour because.

A.Similar size , greater electronegrativity

and similar polarizing power

B. Similar size , same electronegrativity and

lower polarizing power

C.similar size , same electronegativity and

similar high polarizing power

D. None of these


https://dl.doubtnut.com/l/_3Bb3OiPjzm6U

Answer: C

o Watch Video Solution

105. Alkali metals lose electrons in

A. s-orbitals

B. p- orbitals

C. d-orbitals

D. f- orbitals

Answer: A


https://dl.doubtnut.com/l/_3Bb3OiPjzm6U
https://dl.doubtnut.com/l/_IbtBUCIH9lUZ

° Watch Video Solution

106. Which one of the following properties of

alkali metals increases in magnitude as the

atomic number rises ?

A. Electronegativity

B. lonic radius

C. First ionization energy

D. Melting point

Answer: B


https://dl.doubtnut.com/l/_IbtBUCIH9lUZ
https://dl.doubtnut.com/l/_AgsTNEIgbg50

o Watch Video Solution

107. Which of the following properties is not

true for an alkali metal ?

A. Low atomic volume

B. Low ionization energy

C. Low density

D. Low electronegativity

Answer: A

| 8 l


https://dl.doubtnut.com/l/_AgsTNEIgbg50
https://dl.doubtnut.com/l/_2rNI2NVxVyNS

108. When sodium is heated with moist air,

then the product obtained is

A. NazO

B. NaOH

C. NCLQCO:),

D. Na202

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2rNI2NVxVyNS
https://dl.doubtnut.com/l/_voV181iBRAP6

109. Which one of the alkali metals forms only

the normal oxide, M50, on heating in air ?

A.Rb

B.K

C.Li

D.N

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_voV181iBRAP6
https://dl.doubtnut.com/l/_BVvInz9Sqeog

110. Potassium is kept in

A. alcohal

B. water

C. kerosene

D. liquid ammonia

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_9XiIwaGmdCML

111. The alkali metal that reacts with nitrogen

directly to form nitride is

A.Li

B. Na

C.K

D. Rb

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_BJLnbiRunAE1
https://dl.doubtnut.com/l/_2kYjJCD74Jjx

112. Which of the following reacts with water

with high rate ?

A.Li

B.K

C. Na

D. Rb

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_2kYjJCD74Jjx

113. The alkali metals form salt like hydrides by
the direct synthesis at elevated temperature.
The termal stability of these hydrides
decreases in which of the following orders ?
A.NaH > LiH > KH > RbH > CsH
B.LiH > NaH > KH > RbH > CsH

C.CsH > RbH > KH > NaH > LiH

D.KH > NaH > IL+H > CsH > RbH

Answer: B

{ ° Wiak lh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_USDIAFzhAG17
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114. The commerical producation of sodium

carbonate is done by

A. Lead - chamber process

B. Haber's process

C. Solvay process

D. Castner's process

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_USDIAFzhAG17
https://dl.doubtnut.com/l/_okdOaVxrsIuS

115. Sodium carbonate is manufactured by

Solvay process, the products that are recycled

are

A. COQ and NH3

B. 002 and NH4CZ

C. NaCl and CaO

D.CaCly and CaO

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_okdOaVxrsIuS
https://dl.doubtnut.com/l/_K3zmBO2EW3He

116. Na;C'O3 can be manufactured by Solva's

process but KyCQOs cannot be prepared

because

A. K5,CQOj is more soluble

B. K,COj is less soluble

C.KHCO3; is more soluble than

NCLHCO?,

D. KHCOs is less soluuble than NaHCO;


https://dl.doubtnut.com/l/_K3zmBO2EW3He
https://dl.doubtnut.com/l/_GdB8ktNzDC9U

Answer: C

o Watch Video Solution

117. Washing soda is

A. NCLQCOg . 7H2O

B. NCI,zCOg

C. NCLQCOg . ZHQO

D. NCLQCOg

Answer: B


https://dl.doubtnut.com/l/_GdB8ktNzDC9U
https://dl.doubtnut.com/l/_cjmlsxjQ91EQ

° Watch Video Solution

118. When sodium chloride solution is
electrolysed , the gas that is liberated at the

cathode is

A. oxygen

B. hydrogen

C. chlorine

D. Air

Answer: B


https://dl.doubtnut.com/l/_cjmlsxjQ91EQ
https://dl.doubtnut.com/l/_XOMaLZOUGAuL

° Watch Video Solution

119. Molten sodium is used in nuclear reactors

A. Absorb neutrons in order to contral the

chain reaction

B. Slow down the fast neutrons

C.absorb the heat generated by nuclear

fission


https://dl.doubtnut.com/l/_XOMaLZOUGAuL
https://dl.doubtnut.com/l/_JigPQZoSHUkt

D. extract radio -isotopes prouced in the

reactor

Answer: C

° View Text Solution

120. Excess of Na ™ ions in our system causes

A. High B.P
B. Low B.P

C. diabetes


https://dl.doubtnut.com/l/_JigPQZoSHUkt
https://dl.doubtnut.com/l/_xgHCGxU6LaX1

D. anaemia

Answer: A

o Watch Video Solution

121. Which of the following can be represented
by the configuration [Kr]5s* ?

A.Ca

B. Sr

C.Ba


https://dl.doubtnut.com/l/_xgHCGxU6LaX1
https://dl.doubtnut.com/l/_1UfbNYkqWXll

D. Ra

Answer: B

o Watch Video Solution

122. The most electropositive amongst the

alkaline earth metals is:

A. Beryllium

B. Mangnesium

C. calcium


https://dl.doubtnut.com/l/_1UfbNYkqWXll
https://dl.doubtnut.com/l/_7PBPyVrsjSsX

D. Barium

Answer: D

° Watch Video Solution

123. Among the alkaline earth metals, the

element forming predominantly covalent

compound is

A. Be

B. Mg


https://dl.doubtnut.com/l/_7PBPyVrsjSsX
https://dl.doubtnut.com/l/_UmEzo7T51aF3

C.Sr

D. Ca

Answer: A

° Watch Video Solution

124. Which of the following is formed when

calcium combines with oxygen ?

o View Text Solution



https://dl.doubtnut.com/l/_UmEzo7T51aF3
https://dl.doubtnut.com/l/_CknDymRvp4tX

125. Which among the following elements of

groups-2 exhibits anomalous properties ?

A. Be

B. Mg

C.Ca

D. Ba

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_pqE22J1GTmdE
https://dl.doubtnut.com/l/_AvGkZ973Jr4z

126. A substance absorbs C'O, and violently

reacts with water. The substance is

A. CCLCOg

B. CaO

C. H,50,

D. ZnO

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_AvGkZ973Jr4z

127. Slaked lime is obtained when water is
added to

A. CGCO?,

B. CaO

C.Ca(OH),

D. CCL(CQO4)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fz8CWoVGX3S7
https://dl.doubtnut.com/l/_MDTCdLaHKKnf

128. Bleaching powder is obtained by the

action of chlorine gas and

A. conc.solution of Ca(OH),

B. dilute solution of Ca(OH),
C. Dry calcium oxide

D. dry slaked lime

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_MDTCdLaHKKnf

129. Which of the following metal is present in

green colouring pigment chlorophyll of plants

?
A Fe
B. Mg
C. Na
D. Al
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_0mlhqzmSamVP

130. Which metal plays an important role in

neuromuscular functions , internuronal

transimission cell membrane integrity and

blood coagulation ?

A. Be

B. Mg

C.Ca

D. Ba

Answer: C

I o Watch Video Solution


https://dl.doubtnut.com/l/_ORtKepoHoCjG

131. In the case of alkali metals, the covalent

character decreases in the order.

A.MCI > MI > MBr > MF

BMF > MCI > MBr > MI

CMF > MCI > MI > MBr

D.Mi > MBr > MCI > MF

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ORtKepoHoCjG
https://dl.doubtnut.com/l/_SvoHbU0aYRYH

132. Which of the following alkali metals has

the biggest tendency of the half reaction
M(g) - M™ (aq) + e

A. Lithium

B. Sodium

C. Caseium

D. potassium

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_SvoHbU0aYRYH
https://dl.doubtnut.com/l/_aQLmUgagtEdc

133. The metal which reacts with water at

room temperature is

A. copper

B.iron

C. magnesium

D. sodium

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_aQLmUgagtEdc
https://dl.doubtnut.com/l/_3gjX88R2m4qm

134. Among the alkali metals , casesium is the

nucleus reactive becasuse

A. lts incomplete shell is nearest to the

nucleus

B. it has a single electron metal

C. It is the heaviest alkali metal

D. the outermost electron is more loosely

bound than the outermost electron of

the other alkali metals


https://dl.doubtnut.com/l/_15YBuany5eMe

Answer: D

o View Text Solution

135. Peroxide band is present in

A. M gO

B. CaO

C. Li,O

D. BCLOQ

Answer: D


https://dl.doubtnut.com/l/_15YBuany5eMe
https://dl.doubtnut.com/l/_QNpo4yvVyz5W

° View Text Solution

136. Amongst the following select the element

havinghighest ionization enthalpy.

A. Sodium

B. potassium

C. beryllium

D. magnesium

Answer: C

| 8 l


https://dl.doubtnut.com/l/_QNpo4yvVyz5W
https://dl.doubtnut.com/l/_iRHZB498G53v

137. The most electropositive element in alkali

metals is

A. Na

B. K

C.Rb

D.C's

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_iRHZB498G53v
https://dl.doubtnut.com/l/_bTXul524xdGD

138. Which alkali methal is most meallic in

character?

A K

B. Cs

C. Na

D. Li

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_bTXul524xdGD
https://dl.doubtnut.com/l/_mRCwuq9rW3uk

139. In the preparation of sodium carbonate ,

which of the following is used ?

A. Slaked lime

B. Quick lime

C. Lime stone

D. NaOH

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2y6bAcIqqASj
https://dl.doubtnut.com/l/_cx4o9OnoThs7

140. Consider the following statements and
choose the CORRECT statement .

(i) Cs™ ion is more highly hydrated than
other alkali metal ions.

(i)Among the alkali metals , only lithium forms
a stable nitride by direct combination with
nitrogen .

(ili)Among alkali metal Li, Na ,K, Rb , the metal
,Rb has the highest melting point

(iv) Among alkali metals Li, Na , K, Rb, only Li
forms peroxide when heated with oxygen,

(iv)


https://dl.doubtnut.com/l/_cx4o9OnoThs7

Al

B. I

C. 1

D. IV

Answer: B

° View Text Solution

141. lonic mobility of which of the following

alkali metal ions is lowest when aqueous


https://dl.doubtnut.com/l/_cx4o9OnoThs7
https://dl.doubtnut.com/l/_rqmGpFqRMQMB

solution of their salts are put under an electric

field ?

A. Na

B.K

C.Rb

D. Li

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_rqmGpFqRMQMB

142. When washing soda is heated.

A. Co is teleased

B.CO + CO, is released

C.CO, is released

D. Water vapour is released

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_YRsVTNZo5ZDx

143. Baking soda is

A. Na2003

B. NCLHCO?,

C. NCLQSO4

D. K,COs

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_xWqq0rsoLpDT

144. As compared to potassium ,sodium has

A. Lower electronegativily

B. higher ionization potential

C. greater atomic radius

D. Lower melting point

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2rccrPtKoEb5
https://dl.doubtnut.com/l/_cEOK7RmPXSJ4

145. Which of the following has density

greater than water?

A.Li

B. Na

C.K

D. Rb

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_cEOK7RmPXSJ4

146. Which one decomposes on heating

A. MgCO3

B. NaQCO?,

C. K,CO4

D. Rb,COs

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_v85ghyQKCUmN

147. Which one of the following samples of

metals can produduce the most hydrogen by

reacting with water ?

A. 0.5 Mol Of Na

B. 0.5 Mol of Ba

C. 0.5 Mol of Li

D. 0.5 Mol of K

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_GcsIaQ0JZzy1

148. In which of the following the ratio of the

sizes of cation to anion is smallest ?

A. NaCl

B.KCI

D. CCLFQ

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_UOXE7ZfKZwFP
https://dl.doubtnut.com/l/_rT2KocH9Rb6P

149. The main oxides formed on combustion of

Li,Na and K in excess of air respectively are

A. Li,O, NaO and KO,

B.Li05, NayOs and K>,O

C. K’I:20, NCLOQ and K02

D. Li,O, NayO, and KO,

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_rT2KocH9Rb6P

150. Suspension of slaked lime in water is

known as

A. aqueous solution of slaked lime

B. lime water

C. quick lime

D. milk of lime

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_apxQlw1Fjaix
https://dl.doubtnut.com/l/_ILOzvwLcaar1

151. In context with beryllium, which one of the

following statements is incorrect ?

A.lts hydribe is electron -deficent and

polymeric

B. It is rendered passive by nitric acid

C. It forms Be,C

D. Its salt rarely hydroyze

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ILOzvwLcaar1
https://dl.doubtnut.com/l/_dRjrbPUwvd8K

152. Which of the following species do NOT
exist ?
A. B€F2
92—
B. BeF
C. BeF63_

D. B@Hz

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_dRjrbPUwvd8K
https://dl.doubtnut.com/l/_ImCPTs7ss6EO

153. Which of the following is most

electropositive ?

A. Na

B.Na™

C.K

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ImCPTs7ss6EO

154. An alkali metal (M ) reacts with ammonia
to form amida (M NH,).
2M + 2NG3 — 2MNH, + H,

the reaction does NOT hold true when M is
A. sodium
B. Potassium
C. Lithium

D. Caseium

Answer: C


https://dl.doubtnut.com/l/_YChMpuCBAXvt

° View Text Solution

155. An  element having  electronic
configuration is 1s°2s*2p°3s?3P%4s'  will
form:

A. acidic oxide

B. basic oxide

C. amphoteric oxide

D. neutral oxide

Answer: B


https://dl.doubtnut.com/l/_YChMpuCBAXvt
https://dl.doubtnut.com/l/_2S2zGWuwsvJd

° Watch Video Solution

156. Which of the following pair of elements

do NOT show diagonal relationship ?

A Li, Mg

B. Be, Al

C. B, St

D. Na, Mg

Answer: D

| 8 l


https://dl.doubtnut.com/l/_2S2zGWuwsvJd
https://dl.doubtnut.com/l/_hx0F3zChFqb2



https://dl.doubtnut.com/l/_hx0F3zChFqb2

